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THEX Sy« T - R - A5 B B B B G = A & # R (GBS
HEHE R
= 1 91, 842, 460
TE T
= 1 4,001, 750
P T
= 1 4,001, 750
& 75 AVHE T O ALE]R
= 1 479, 450
ERESTR b CEBL ERIRY L& Te)
= 1 1, 956, 810
ER L STR b CEBL ERIRY L& Te)
= 1 1,541, 510
ER L STR T CEHL ERIRY L& Te)
= 1 23, 980
Mgt R T
= 1 1, 289, 493
B IR 22 E AL R T
= 1 1, 289, 493
L2 TEALER ImPA T EEA 100m2 8 7= 0 1 F &
8t/100m2 tiv bR EbAF
m2 489 2,637 1, 289, 493
PERE T
= 1 60, 329, 483
EE LT
= 1 4,799, 856
SrPTFIHeRE 1T
(BU-7)
= 1 53, 685, 628
LR AT 9Y47740~0 I 0. 2m
m2 520 1,234 641, 680
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¥ Layy)-h 18-8-40 (F47) BW/E 10cm
m2 520 3, 054 1, 588, 080
av)=p 24-12-25(20) (% ¥F)
m3 930 27, 393 25, 475, 490
R SD345 D13
t 17.45 156, 128 2,724,433
ERAR SD345 D16~25
t 14.19 156, 401 2,219, 330
ERAR SD345 D29~32
t 64. 32 156, 858 10, 089, 106
Hl — T
= 1 5, 642, 650
K5 Xy N
= 1 2, 640, 000
B HiA B HEMEE B A =20
m2 93 4,674 434, 682
BhAKY=h —JBeER JETEES 2T METAT 7MY -b
m2 100 3, 827 382, 700
Bhik =} — S RSB 2T METAT 7N
Bl
m2 161 5, 242 843, 962
Bk PRt (Rvhn) — M ETEE 420kg/m3
m2 100 1,723 172, 300
Bk Bt (i) — M R 420kg/m3
m2 161 3, 395 546, 595
o RIALERRA 7K
T 14 20, 330 284, 620
7" VEyAMAERE T
(45)
= 1 1, 843, 999
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7" Vv A MAERE TH 145¢cm 1. 0m&#8 2.2. OmPA T
m 10.2 79,916 815, 143
7" Vv A MAERE & 160 c m 2. 0m% #8 2.3, 5mEL T
m 12 85, 738 1, 028, 856
Pk A& L
= 1 1, 834, 802
EE LT
= 1 22,725
BT
= 1 1,276, 261
B ) - HE D700
m 29 44, 009 1,276, 261
A KMk k- T
= 1 535, 816
BUGFT B AR K B900 X L600 X H1600
T 2 156, 766 313,532
* PTV=F/07 % 900X 600 T-6 & Vh
EE MA
bie 2 111, 142 222, 284
HEERE T
= 1 135, 640
R BE AR T
= 1 135, 640
RET - AR SRR R4 H=4m
m 40 3, 391 135, 640
EEMRE T
= 1 267, 048
M EUE L T
= 1 174, 837
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THX Sy - THE - FER - sl B B B B G = A & | (GRS
SRR O TATTVMESERR 15emBL T
m 6 597.5 3, 585
LB TAT7VIMERZERR EH2EARIE B cm
m2 130 181.3 23, 569
WRASH 32 1 HUE L ERROAT W T
m2 230 642. 1 147, 683
TE AL T
= 1 92, 211
PHaukiil TAT 7 bk
m3 7 3,274 22,918
kI E2%3
m3 7 4,539 31,773
ALy TAT7 Vi
m3 7 2,787 19, 509
e E2%3
m3 7 2,573 18,011
A
= 1 23, 984, 244
B AR B T
(BU-7)
= 1 20, 416, 063
SHRAR VAL SERERRARE & 12. 0m T8
SR BIE 11, 1m
O
e 31 33, 406 1, 035, 586
SRR VAL SERIERRARE & 12, 5m T8
MR E 11. 9m
@)
e 32 34, 437 1,101, 984
SHRAR VAL SERERRRE S 13m fiR
WATIARE 12.5m SEHISH MR B4
® £ 12.5m
e 38 68, 491 2,602, 658
SHRAR VAL SERIERRARE & 13. 0m T8
SR BI R 12. 4m
@
5 34 36, 974 1,257,116
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THEX Sy« T - R - A5 B B B B G = A & # (GRS
FRRAR VAR SEERRAE & 14. 5m 8
SR B PFR 13.6m
®
e 32 40, 067 1,282, 144
TERBUEA B Pk - A i
= 1 376, 312
HERAT H300 HEfE & (H1F) 8.5m HEMV
BHTAR 6.9m HEHEHMEER 5
(HFRIAD) .6m
ZN 6 77,799 466, 794
HERAT H300 HEfE & (F1F) 9.0m HERF
BHTAR 7.2m HEHEREER 6
(FRIHO) .1m
ZN 8 80, 564 644, 512
Bgk-fEk L
t 117.9 98, 367 11, 597, 469
ER2) BERR KA+ 9 fif
(KA LD H)
] 80 643. 6 51, 488
KET
= 1 2, 176, 860
U7 Pk 0LL 40 (m3/h) Aiii H WRedEK
= 1 2, 176, 860
RIEE T
= 1 1,391, 321
RRFE AR B A BB
= 1 1,391, 321
[EEE AR
= 1 91, 842, 460
Bl ¢
= 1 15, 3717, 265
B Sl e
= 1 6, 156, 488
T
= 1 5,026, 728
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T RR A oy AR ST A
= 1 1,723,521
AR T
= 1 3, 303, 207
HTE
= 1 230, 039
B B HE R FEART IR
= 1 53, 654
A b R
= 1 6, 661
SRR A AT AR R 50kNEAPY
= 1 169, 724
BUGERRYCER (K5 1)
= 1 899, 721
HimEpE (FE L)
= 1 9, 220, 777
g
= 1 107, 219, 725
B E
= 1 33, 225, 822
B 5]
= 1 140, 445, 547
— R B
= 1 22, 754, 453
T HAlik
= 1 163, 200, 000
THE B 2 %8
= 1 16, 320, 000
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TG
= 1 179, 520, 000
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